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1. What do you think is the significance of

Reproductive Health in a society?

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iL37bG8UrMWY

2. Suggest the aspects of reproductve health
which need to be given special attention in

the present scenario.

o Watch Video Solution

3. Is sex education necessary in schools?If so

why?

o Watch Video Solution



https://dl.doubtnut.com/l/_iL37bG8UrMWY
https://dl.doubtnut.com/l/_GtfLbdJbga5b
https://dl.doubtnut.com/l/_luCtiNtTr6u5
https://dl.doubtnut.com/l/_1fe6jFNLL7xa

4. Do you think that reproductive health in our
country has improved in the past 50 years?If

yes ,mention some such areas of improvement.

o Watch Video Solution

5. What are the suggested reasons for

population explosion?

o Watch Video Solution



https://dl.doubtnut.com/l/_1fe6jFNLL7xa
https://dl.doubtnut.com/l/_sRdMOQxUwOPl

6. Is the uase of contraceptives justified ?Give

reasons.

o Watch Video Solution

7.Removal of gonads cannot be considered as

contraceptive options.Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_ODQzFgaKwu4W
https://dl.doubtnut.com/l/_W0k7jFBkhDie

8. Ammiocentesis the sex determination test is
banned in our country .s it necessary?

Comment.

o Watch Video Solution

9. What is amniocentesis?Discuss misuse.

o Watch Video Solution



https://dl.doubtnut.com/l/_SwaYw38txCj3
https://dl.doubtnut.com/l/_e5dl0s48Q5rl

10. Suggest some methods to assist infertile

couples to have children.

o Watch Video Solution

11. What are the measures one has to take to

prevent from contracting STDs ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wKE8gwEho7Qz
https://dl.doubtnut.com/l/_5elX2xtLS8Rn

12. State True/False:

Abortions could happen spontaneously too

° Watch Video Solution

13. Infertility is defined as the inability to
produce a viable offspring and is always due
to abnormalities/defects in the female partner.

(True/False)

o Watch Video Solution



https://dl.doubtnut.com/l/_paNjMsV8Rwgg
https://dl.doubtnut.com/l/_3jCPtsSvERST
https://dl.doubtnut.com/l/_EGijY0Mi4kRd

14. Complete lactation could help as a natural

method of contraception. (True/False)

° Watch Video Solution

15. State True/False:
Creating awareness about sex related aspects
is an effective method to imporove

reproductive health of the people.

o Watch Video Solution



https://dl.doubtnut.com/l/_EGijY0Mi4kRd
https://dl.doubtnut.com/l/_ywQJIDTY8Qbn
https://dl.doubtnut.com/l/_V8OVdS6IjzFB

16. Correct the following statements:

Surgical methods of contracepton prevent

gamete formation.

o Watch Video Solution

17. Correct the following statements:
All  sexually transmitted diseases

completely curable.

are

o Watch Video Solution



https://dl.doubtnut.com/l/_V8OVdS6IjzFB
https://dl.doubtnut.com/l/_UUNljuiPJp80

18. Correct the following statements:

Oral pills are very popular contraceptives

among the rural women.

o Watch Video Solution

19. Correct the following statements:
In ET. techniques,embryos are

transferred into the uterus.

always

o Watch Video Solution



https://dl.doubtnut.com/l/_3OwFD2f4Lb3U
https://dl.doubtnut.com/l/_EX2bo4geELX5
https://dl.doubtnut.com/l/_eWuTyvOaSa25

20. Define reproductive health as per WHO.

o Watch Video Solution

21. Expand STD and CDRI.

o Watch Video Solution

22. Name any two programmes essential to

provide efficient care and assistance to people

o Watch Video Solution



https://dl.doubtnut.com/l/_eWuTyvOaSa25
https://dl.doubtnut.com/l/_9912ggNGTkYZ
https://dl.doubtnut.com/l/_9UZDS54me0CF

23. What is amniocentesis?

o Watch Video Solution

24. What was our population at the time of

independence and in May 20007

o Watch Video Solution

25. what is population expsion?

| & I


https://dl.doubtnut.com/l/_9UZDS54me0CF
https://dl.doubtnut.com/l/_F3jBByCoeUcZ
https://dl.doubtnut.com/l/_0J1jATu0hjnd
https://dl.doubtnut.com/l/_AkED7Z92n3Kx

| ¥ Watch Video Solution

26. What is doubling time?

o Watch Video Solution

27. What is the current growth rate of India?

o Watch Video Solution



https://dl.doubtnut.com/l/_AkED7Z92n3Kx
https://dl.doubtnut.com/l/_llce9qPIiaxH
https://dl.doubtnut.com/l/_A9yn2kreJhFI

28. How is annual average growth rate

calculated?

° Watch Video Solution

29. What is rate of natural increase?

° Watch Video Solution

30. List the main methods of birth control.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ixco1hbDImM6
https://dl.doubtnut.com/l/_3qxQa7brbICK
https://dl.doubtnut.com/l/_E6IHl7bPIDfc

31. What are two factors which have raised life

expectancey in the developing countries?

o Watch Video Solution

32. What are causes of deaths of women

between ages 15 adn 19 years?

° Watch Video Solution



https://dl.doubtnut.com/l/_E6IHl7bPIDfc
https://dl.doubtnut.com/l/_ybR0dqPq0Z7E
https://dl.doubtnut.com/l/_cmeD9CtHleVR

33. Name the following:
Changes that occur in population due to
alteration in mortality,sex ratio age groups

etc.

° Watch Video Solution

34.Name the following:
The exceptionally high rate of growth of

population.

° Watch Video Solution



https://dl.doubtnut.com/l/_xlgPB5H2sE9i
https://dl.doubtnut.com/l/_KhN3aYTCjlD7

35. Name the following:

A method of fertility control in males.

o Watch Video Solution

36. Name the following:

A method of fertility control in females.

o Watch Video Solution



https://dl.doubtnut.com/l/_KhN3aYTCjlD7
https://dl.doubtnut.com/l/_2Ey0MtuxhTIg
https://dl.doubtnut.com/l/_gj9OvwTe5oDu

37. Name the following:
The technical term used for the differences
between the birth rate and the death rate in

population.

o Watch Video Solution

38. After a successful in vitro fertilization, the
fertilised egg begins to divide. Where is this
egg transferred before it reaches the 8-cell

stage and what is this technique named?

| & I


https://dl.doubtnut.com/l/_6KlkHHiAYKNf
https://dl.doubtnut.com/l/_Xr9afmV0J2Bi

| ¥ Watch Video Solution

39. What is demography?

o Watch Video Solution

40.Who is a surrogate mother ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Xr9afmV0J2Bi
https://dl.doubtnut.com/l/_g67LdSS4vCeu
https://dl.doubtnut.com/l/_aVPxrr7lakbv

41. How the mind and mental state can affect

our health?How is health affected?

o Watch Video Solution

42. Define reproductive health.How does thsi

affect society?

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2aJXIIYB43N
https://dl.doubtnut.com/l/_YclBwgEI0U3W

43. Briefly give an account of various intra-
uterine contraceptive measures.What are

advantages?How do they function?

o Watch Video Solution

44. What are various oral contra-ceptives
used? How do they function?What is the

advantage of Saheli?

o Watch Video Solution



https://dl.doubtnut.com/l/_AOPT5J0OoVsX
https://dl.doubtnut.com/l/_2TYbILiFj1i9
https://dl.doubtnut.com/l/_9IfGI9QH1kTP

45. What are the measures one has to take to

prevent from contracting STDs ?

° Watch Video Solution

46. Name some assisted reproductive
technologeis which have decrease the number

of cases of infertile couples.

° Watch Video Solution



https://dl.doubtnut.com/l/_9IfGI9QH1kTP
https://dl.doubtnut.com/l/_QCDDVdtMFOra

47. What are the different methods of

contraception?

° Watch Video Solution

48. Expand ICSLIULZIFT,GIFT,ET and IUT.

° Watch Video Solution

49. Why is increasing food production

considered only a temporary solution to a


https://dl.doubtnut.com/l/_YYgGNkdUPCxJ
https://dl.doubtnut.com/l/_KeGXZfcnO0hB
https://dl.doubtnut.com/l/_OSlAEwCp57uH

growing population?

o Watch Video Solution

50. How are the concepts of biotic potential ,
environmental resistance and carrying

capacity related population growth ?

o Watch Video Solution

51. Suggest any four aspects of reproductive

health which need to be given special


https://dl.doubtnut.com/l/_OSlAEwCp57uH
https://dl.doubtnut.com/l/_Mqg1dhMsNAub
https://dl.doubtnut.com/l/_X4pgJvH39kOw

attention in the present scenario.

o Watch Video Solution

52. Define population.What are the aims of

population study?

° Watch Video Solution

53. Define population densityWhat are

consequences of high population density?

o Watch Video Solution



https://dl.doubtnut.com/l/_X4pgJvH39kOw
https://dl.doubtnut.com/l/_ebI66AkTiHjM
https://dl.doubtnut.com/l/_2RiwWAavBbav

54. Define birth rate,death rate and fertility

rate.

° Watch Video Solution

55. Differentiate natality rate and mortality

rate.

o Watch Video Solution



https://dl.doubtnut.com/l/_2RiwWAavBbav
https://dl.doubtnut.com/l/_ldoYthZh6T3N
https://dl.doubtnut.com/l/_Lvq5Z0iAK5LE

56. What is faily planning ?List the ways of

family planning.

o Watch Video Solution

57. Suggest the various measures

population control.

of

o Watch Video Solution

58. Write a note on test tube babies.



https://dl.doubtnut.com/l/_JqjrgIqO8QGU
https://dl.doubtnut.com/l/_0lwpZZ8i4o5h
https://dl.doubtnut.com/l/_3OpRhZINZwwI

o Watch Video Solution

59. People of which age group are more
vulnerable to incidence of infection of

STDs.Suggest three ways of preveting STD.

o Watch Video Solution

60. List the objectives of Reproductive and

child Heath Care Prorammes (RCH).

o Watch Video Solution



https://dl.doubtnut.com/l/_3OpRhZINZwwI
https://dl.doubtnut.com/l/_42KVLxccpQ7J
https://dl.doubtnut.com/l/_bovlR9fmcMtH

61. What is amniocentesis?Explain the various
steps involved in ths technique Write its two

significances also.

° Watch Video Solution

62. What do you think is the significance of

Reproductive Health in a society?

o Watch Video Solution



https://dl.doubtnut.com/l/_bovlR9fmcMtH
https://dl.doubtnut.com/l/_fcIurxxQ4wBz
https://dl.doubtnut.com/l/_W0q43eaboMuI
https://dl.doubtnut.com/l/_q4cyArtJOCCK

63. Suggest the aspects of reproductve health
which need to be given special attention in

the present scenario.

o Watch Video Solution

64. Is sex education necessary in schools?If so

why?

° Watch Video Solution



https://dl.doubtnut.com/l/_q4cyArtJOCCK
https://dl.doubtnut.com/l/_6lXS4kLGxt9b

65. Do you think that reproductive health in
our country has improved in the past 50
years? If yes, mention some such areas of

improvement.

° Watch Video Solution

66. List the reasons for population explosion?

° Watch Video Solution



https://dl.doubtnut.com/l/_om3FNIvXgaB2
https://dl.doubtnut.com/l/_HWAqWzHd6UUr

67. Is the use of contraceptives justified ? Give

reasons.

o Watch Video Solution

68. Removal of gonalds cannot be considered

as contraceptive option. Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mxtW3EBnx2n6
https://dl.doubtnut.com/l/_S6FCEO2zTC2K

69. Amniocentesis, the foetal sex
determination test is banned in our country. It

is necessary ? Comment.

o Watch Video Solution

70. What is amniocentesis?Discuss misuse.

o Watch Video Solution



https://dl.doubtnut.com/l/_oSypLIMXNVwq
https://dl.doubtnut.com/l/_0K206mhaqWeK

71. Suggest some methods to assist infertile

couples to have children.

o Watch Video Solution

72. What are the measures one has to take to

prevent from contracting STDs ?

o Watch Video Solution



https://dl.doubtnut.com/l/_RDDAE55YqXSJ
https://dl.doubtnut.com/l/_V1OiPg7t4Cfu

73. State True/False:

Abortions could happen spontaneously too

° Watch Video Solution

74. State True/False:
Infertility is defined as the inability to produce
a viable offspring and is always due to

abnormaliities/defects in the female partner.

o Watch Video Solution



https://dl.doubtnut.com/l/_SciPhr5Atjrg
https://dl.doubtnut.com/l/_RUDnsUCcvgp1
https://dl.doubtnut.com/l/_LoltCOjwIOQ8

75. State True/False:
Complete lactation could help as a natural

method of contraception

o Watch Video Solution

76. State True/False:
Creating awareness about sex related aspects
is an effective method to imporove

reproductive health of the people.

° Watch Video Solution



https://dl.doubtnut.com/l/_LoltCOjwIOQ8
https://dl.doubtnut.com/l/_q7eXFv9DSgcT

77. Correct the following statements:
Surgical methods of contraception prevent

gamete formation.

o Watch Video Solution

78. Correct the following statements:
All sexually transmitted diseases are copleterly

curable.

o Watch Video Solution



https://dl.doubtnut.com/l/_QZGjI5bv5xZn
https://dl.doubtnut.com/l/_Q99WS70jGhnc
https://dl.doubtnut.com/l/_Rxs3aIbdD5wx

79. Correct the following statements:

Oral pills are very popular contraceptives

among the rural women.

o Watch Video Solution

80. Correct the following statements:
In ET. techniques,embryos are

transferred into the uterus.

always

o Watch Video Solution



https://dl.doubtnut.com/l/_Rxs3aIbdD5wx
https://dl.doubtnut.com/l/_DDh5dbOTC9L5
https://dl.doubtnut.com/l/_VqKR7dukEsHp

81. Define reproductive health as per WHO.

o Watch Video Solution

82. Expand STD and CDRI.

o Watch Video Solution

83. Name any two programmes essential to

provide efficient care and assistance to people

o Watch Video Solution



https://dl.doubtnut.com/l/_VqKR7dukEsHp
https://dl.doubtnut.com/l/_lgwPt1WY6YRW
https://dl.doubtnut.com/l/_n2flPi7GqNG4

84. What is amniocentesis?

o Watch Video Solution

85. What was our population at the time of

independence and in May 20007

o Watch Video Solution

86. What is population explosion?

o Watch Video Solution



https://dl.doubtnut.com/l/_q6VphxPYtCk6
https://dl.doubtnut.com/l/_yt1Kg6ZNCKDM
https://dl.doubtnut.com/l/_Y5PKgap1h8AH

87. What is doubling time?

o Watch Video Solution

88. What is the current growth rate of India?

o Watch Video Solution

89. How is annual average growth rate

calculated?



https://dl.doubtnut.com/l/_Y5PKgap1h8AH
https://dl.doubtnut.com/l/_zYCwU9cDcMWW
https://dl.doubtnut.com/l/_4o8PkBGyvoVu
https://dl.doubtnut.com/l/_0JvDB7Mtu2rP

o Watch Video Solution

90. What is rate of natural increase?

o Watch Video Solution

91. List the main methods of birth control.

o Watch Video Solution



https://dl.doubtnut.com/l/_0JvDB7Mtu2rP
https://dl.doubtnut.com/l/_afm4T1hHuht6
https://dl.doubtnut.com/l/_5Cyzpj1RZtY9

92. What are two factors which have raised life

expectancey in the developing countries?

° Watch Video Solution

93. What are causes of deaths of women

between ages 15 adn 19 years?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ke8nM8Yh42xZ
https://dl.doubtnut.com/l/_Odf23SYY885d

94. Name the following:
Changes that occur in population due to
alteration in mortality,sex ratio age groups

etc.

° Watch Video Solution

95. Name the following:
The exdceptionally high rate of growth of

poopulation.

° Watch Video Solution



https://dl.doubtnut.com/l/_CFztowMf3THu
https://dl.doubtnut.com/l/_rFQEcaC8lF7a

96. Name the following:

A method of fertility control in males.

o Watch Video Solution

97. Name the following:

A method of fertility control in females.

o Watch Video Solution



https://dl.doubtnut.com/l/_rFQEcaC8lF7a
https://dl.doubtnut.com/l/_IimY6iTLmZaI
https://dl.doubtnut.com/l/_LET9SJXSETIB

98. Name the following:
The technical term used for the differences
between the birth rate and the death rate in

population.

o Watch Video Solution

99. After a successful in vitro fertilization, the
fertilised egg begins to divide. Where is this
egg transferred before it reaches the 8-cell

stage and what is this technique named?

| & I


https://dl.doubtnut.com/l/_yj6vYdmxzvk2
https://dl.doubtnut.com/l/_e2Myfgu0N4jW

| ¥ Watch Video Solution

100. What is demography?

o Watch Video Solution

101. Who is a surrogate mother ?

o Watch Video Solution



https://dl.doubtnut.com/l/_e2Myfgu0N4jW
https://dl.doubtnut.com/l/_cjKfKutvRyk5
https://dl.doubtnut.com/l/_rY5BzM9Dom9w

102. How the mind and mental state can affect

our health?How is health affected?

o Watch Video Solution

103. Define reproductive health.How does thsi

affect society?

o Watch Video Solution



https://dl.doubtnut.com/l/_JSu4XRFSZuyD
https://dl.doubtnut.com/l/_HH7B22MdRIXG

104. Briefly give an account of various intra-
uterine contraceptive measures.What are

advantages?How do they function?

o Watch Video Solution

105. What are various oral contra-ceptives
used? How do they function?What is the

advantage of Saheli?

o Watch Video Solution



https://dl.doubtnut.com/l/_ugmurHwfM0ff
https://dl.doubtnut.com/l/_teBzU5FmVTeQ
https://dl.doubtnut.com/l/_m4oI48BXaUA3

106. What are the measures one has to take to

prevent from contracting STDs ?

° Watch Video Solution

107. Name some assisted reproductive
technologeis which have decrease the number

of cases of infertile couples.

° Watch Video Solution



https://dl.doubtnut.com/l/_m4oI48BXaUA3
https://dl.doubtnut.com/l/_0TsZyNRxKx26

108. What are the different methods of

contraception?

° Watch Video Solution

109. Expand ICSLIULZIFT,GIFT,ET and IUT.

° Watch Video Solution

10. Why is increasing food production

considered only a temporary solution to a


https://dl.doubtnut.com/l/_AzASKeuLGDSc
https://dl.doubtnut.com/l/_tiilp1qljGqb
https://dl.doubtnut.com/l/_66PHVMMgY4cV

growing population?

o Watch Video Solution

111. How are the concepts of biotic potential ,
environmental resistance and carrying

capacity related population growth ?

o Watch Video Solution

112. Suggest any four aspects of reproductive

health which need to be given special


https://dl.doubtnut.com/l/_66PHVMMgY4cV
https://dl.doubtnut.com/l/_27iRoaGprnox
https://dl.doubtnut.com/l/_vk4b5RoNg5nK

attention in the present scenario.

o Watch Video Solution

113. Define population.What are the aims of

population study?

° Watch Video Solution

14. Define population densityWhat are

consequences of high population density?

o Watch Video Solution



https://dl.doubtnut.com/l/_vk4b5RoNg5nK
https://dl.doubtnut.com/l/_ps6b59apSEO7
https://dl.doubtnut.com/l/_5CZXuWBwocMz

115. Define birth rate,death rate and fertility

rate.

° Watch Video Solution

116. Differentiate natality rate and mortality

rate.

o Watch Video Solution



https://dl.doubtnut.com/l/_5CZXuWBwocMz
https://dl.doubtnut.com/l/_fpi7S7zy10VR
https://dl.doubtnut.com/l/_6Nk953c2v25Y

117. What is faily planning ?List the ways of

family planning.

o Watch Video Solution

18. Suggest the various measures of

population control.

o Watch Video Solution

119. Write a note on test tube babies.



https://dl.doubtnut.com/l/_5trekgt2MB9X
https://dl.doubtnut.com/l/_YbejamFfTeU2
https://dl.doubtnut.com/l/_buH0tqpbna7p

o Watch Video Solution

120. People of which age group are more
vulnerable to incidence of infection of

STDs.Suggest three ways of preveting STD.

o Watch Video Solution

121. List the objectives of Reproductive and

child Heath Care Prorammes (RCH).

o Watch Video Solution



https://dl.doubtnut.com/l/_buH0tqpbna7p
https://dl.doubtnut.com/l/_aMo1SO5JYl4l
https://dl.doubtnut.com/l/_ejasMOmOphLJ

122. What is amniocentesis?Explain the various
steps involved in ths technique Write its two

significances also.

° Watch Video Solution

1. Fill in the blanks with suitable words:

The branch of science that deals with the

trends in human population.......... :


https://dl.doubtnut.com/l/_ejasMOmOphLJ
https://dl.doubtnut.com/l/_CKrpHYUX3WbG
https://dl.doubtnut.com/l/_oYgansopylM8

° Watch Video Solution

2. Fill in the blanks with suitable words:
The actual birth rate that occurs under the

existing condition .......

° Watch Video Solution

3. Fill in the blanks with suitable words:
The actual number of deaths in the existing

condition ............. )

| e |


https://dl.doubtnut.com/l/_oYgansopylM8
https://dl.doubtnut.com/l/_Q0o9TPBY4hKd
https://dl.doubtnut.com/l/_YfkiF4ysaHcr

& watch Video Solution I

4. Fill in the blanks with suitable words:
The total number of individuals of a species
found in a particular area,constinent or whle

earth ............... )

° Watch Video Solution

5. Fill in the blanks with suitable words:
The number of individuals inhabiting per unit

darea ............ .


https://dl.doubtnut.com/l/_YfkiF4ysaHcr
https://dl.doubtnut.com/l/_b0rPL9YTqA97
https://dl.doubtnut.com/l/_83X7jjx6J3rp

° Watch Video Solution

6. State true or false:

Cu-T is used as birth control device by women.

o Watch Video Solution

7.State true or false:
Progesterone in the contracepttive pill inhibits

estrogen.

o Watch Video Solution



https://dl.doubtnut.com/l/_83X7jjx6J3rp
https://dl.doubtnut.com/l/_h5yJva59OF45
https://dl.doubtnut.com/l/_lWARpaUVjN8V

8. State true or false:

Vasectomy to women.

° Watch Video Solution

9, State true or false:

GIFT is method of birth control.

o Watch Video Solution



https://dl.doubtnut.com/l/_lWARpaUVjN8V
https://dl.doubtnut.com/l/_3bh6aWsv1b46
https://dl.doubtnut.com/l/_qcD4bVzl1DOD

10. State true or false:
Copper-T prevents fertilization of egg and

implantation of embryo.

o Watch Video Solution

11. Name the following :
Changes that occur in population due to

ateration in mortality ,sex ratio,ge groups etc.

o Watch Video Solution



https://dl.doubtnut.com/l/_VJxvr6e1LcpO
https://dl.doubtnut.com/l/_w1njlTshTd68
https://dl.doubtnut.com/l/_z46ASDPJqgwW

12. Name the following :
The exceptionally high rate of growth of

population.

o Watch Video Solution

13. Name the following :

A method of fertility control in males.

o Watch Video Solution



https://dl.doubtnut.com/l/_z46ASDPJqgwW
https://dl.doubtnut.com/l/_TwhSzQ5Yd4ar

14. Name the following :

A method of fertility control in females.

° Watch Video Solution

15. Name the following :
The technical term used for the differences
between the birth rate and the death rate in

population

o Watch Video Solution



https://dl.doubtnut.com/l/_LiqFy8plwxOa
https://dl.doubtnut.com/l/_x5URSKMZB7l9
https://dl.doubtnut.com/l/_d7Qly9pF4NeG

16. A method of birth control is :

A. GIFT

B. HJF

C. IVF-ET

D. IUDs.

Answer:

o Watch Video Solution

17. Copper -T prevents :


https://dl.doubtnut.com/l/_d7Qly9pF4NeG
https://dl.doubtnut.com/l/_cHPtCZNnLLQA

A. Ovulation

B. Fertilization of egg

C. Implantation of embryo

D. Both b and c.

Answer:

o Watch Video Solution

18. Which is related to males :-

A. oral pill


https://dl.doubtnut.com/l/_cHPtCZNnLLQA
https://dl.doubtnut.com/l/_uZwHkrMVEq1t

B. Tubectomy

C. Vasectoy

D. None of these.

Answer:

o Watch Video Solution

19. A population can grow exponentially:

A. when food is the only limiting resource


https://dl.doubtnut.com/l/_uZwHkrMVEq1t
https://dl.doubtnut.com/l/_A3dxeZRIPumD

B.when first invading a suitable and

previously uncoccupied habitat

C.only if there is no predation

D. only in the laboratary.

Answer:

o Watch Video Solution

20. Which of the following does not directly

affect biotic potential?


https://dl.doubtnut.com/l/_A3dxeZRIPumD
https://dl.doubtnut.com/l/_8acdf0VEr16Z

A. a female's age of first reproduction

B. carrying capacity of the environment

C.length of time a female is fertile

D. average number of offspring per brood

or litter.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8acdf0VEr16Z

21. The birth control device not used by

women is

A. Diagphragm

B. Oral pill

C.Condom

D. Copper T

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CSuhtfEWMXRg
https://dl.doubtnut.com/l/_llGrhgrUTY37

22. The prenatal technique to determine the

genetic disorders in a foetus is called

A. Laproscopy

B. Amniocentesis

C. Abstinence

D. Coitus interruptus.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_llGrhgrUTY37

23. What is correct about a test tube baby?

A. Fertilization in female's genital tract and

growth in test tube

B. Rearing or premature born baby in an

incubator

C. Fertilization outside and gestation

inside mother's womb

D.Both fertilization nd development are

done outside the female genital tract.


https://dl.doubtnut.com/l/_MzhMqNf3qcon

Answer:

o Watch Video Solution

24. The best way to decrease population of a

country is

A. to educate the people

B. to have better living conditions

C. mass killing


https://dl.doubtnut.com/l/_MzhMqNf3qcon
https://dl.doubtnut.com/l/_enldOnUBQi9I

D.to practise and implement family

planning technique.

Answer:

o Watch Video Solution

25. The main factor for the growth of human

population in India is :

A. high birth rate

B. less death rate


https://dl.doubtnut.com/l/_enldOnUBQi9I
https://dl.doubtnut.com/l/_t8XqwmgucCzf

C. lack of education

D. All of the above.

Answer:

° Watch Video Solution

26. Fill in the blanks with suitable words:
The branch of sceince that deals with the

trends in human population.......... :

° Watch Video Solution



https://dl.doubtnut.com/l/_t8XqwmgucCzf
https://dl.doubtnut.com/l/_NUqqtY0sTcD0

27.Fill in the blanks with suitable words:
The actual birth rate that occurs under the

exsting condition .......

o Watch Video Solution

28. Fill in the blanks with suitable words:
The actual number of deaths in the existing

condition ............. )

o Watch Video Solution



https://dl.doubtnut.com/l/_qsbvraWZJodM
https://dl.doubtnut.com/l/_xYCZE4iyzd3d
https://dl.doubtnut.com/l/_ZDDvITSKLOpj

29. Fill in the blanks with suitable words:
The total number of individuals of a species
found in a particular area,constinent or whle

earth .............. )

° Watch Video Solution

30. Fill in the blanks with suitable words:
The number of individuals inhabiting per unit

area ............ .

° Watch Video Solution



https://dl.doubtnut.com/l/_ZDDvITSKLOpj
https://dl.doubtnut.com/l/_MMCKdeYPYtiG

31. State true or false:

Cu-T is used as birth control device by women.

o Watch Video Solution

32. State true or false:
Progesterone in the contraceptive pill inhibits

estrogen.

o Watch Video Solution



https://dl.doubtnut.com/l/_tet5qYT97zzJ
https://dl.doubtnut.com/l/_5dio9Wsj7MIX

33. State true or false:

Vasectomy to women.

o Watch Video Solution

34, State true or false:

GIFT is method of birth control.

o Watch Video Solution



https://dl.doubtnut.com/l/_HcDvmnyqftCY
https://dl.doubtnut.com/l/_QE2QVQ3I3e16

35. State true or false:
Copper-T prevents fertilization of egg and

implantation of embryo.

o Watch Video Solution

36. Name the following :
Changes that occur in population due to

ateration in mortality ,sex ratio,ge groups etc.

o Watch Video Solution



https://dl.doubtnut.com/l/_VX9bNB6rsy1e
https://dl.doubtnut.com/l/_MAKzpLA5RvYf
https://dl.doubtnut.com/l/_XK3TeIP6BQ2F

37. Name the following :
The exceptionally high rate of growth of

population.

o Watch Video Solution

38. Name the following :

A method of fertility control in males.

o Watch Video Solution



https://dl.doubtnut.com/l/_XK3TeIP6BQ2F
https://dl.doubtnut.com/l/_vKWIDzWx7rd6

39. Name the following :

A method of fertility control in females.

° Watch Video Solution

40. Name the following :
The technical term used for the differences
between the birth rate and the death rate in

population

o Watch Video Solution



https://dl.doubtnut.com/l/_hjirtTp87dM5
https://dl.doubtnut.com/l/_XXYEbyiF7Lx9
https://dl.doubtnut.com/l/_y3WyaWGv3xUN

41. A method of birth control is :

A. GIFT

B. HJF

C. IVF-ET

D. IUDs.

Answer:

o Watch Video Solution

42. Copper-T prevents:


https://dl.doubtnut.com/l/_y3WyaWGv3xUN
https://dl.doubtnut.com/l/_eJOnlMjAZgZt

A. Ovulation

B. Fertilization of egg

C. Implantation of embryo

D. Both b and c.

Answer:

o Watch Video Solution

43. Which is related to males?

A. oral pill


https://dl.doubtnut.com/l/_eJOnlMjAZgZt
https://dl.doubtnut.com/l/_fuEGwX3sEdQp

B. Tubectomy

C. Vasectoy

D. None of these.

Answer:

o Watch Video Solution

44, The birth control device not used by

women is

A. Diagphragm


https://dl.doubtnut.com/l/_fuEGwX3sEdQp
https://dl.doubtnut.com/l/_jqsiNo5rRLzx

B. Oral pill

C.Condom

D. Copper T

Answer:

o Watch Video Solution

45. The prenatal technique to determine the

genetic disorders in a foetus is called

A. Laproscopy


https://dl.doubtnut.com/l/_jqsiNo5rRLzx
https://dl.doubtnut.com/l/_9VotvFdudeUO

B. Amniocentesis

C. Abstinence

D. Coitus interruptus.

Answer:

o Watch Video Solution

46. What is correct about a test tube baby?

A. Fertilization in female's genital tract and

growth in test tube


https://dl.doubtnut.com/l/_9VotvFdudeUO
https://dl.doubtnut.com/l/_3OkiClQc8Tx6

B. Rearing or premature born baby in an

incubator

C. Fertilization outside and gestation

inside mother's womb

D.Both fertilization nd development are

done outside the female genital tract.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3OkiClQc8Tx6

47. The best way to decrease population of a

country is

A. to educate the people

B. to have better living conditions

C. mass killing

D.to practise and implement family

planning technique.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_J3EFu87QrbX9

48. The main factor for the growth of human

population in India is :

A. high birth rate

B. less death rate

C. lack of education

D. All of the above.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_J3EFu87QrbX9
https://dl.doubtnut.com/l/_TCpuEHhZoS9E




